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> p <- c(100, 200, 300, 400) = p_c:— numeric({l10)

:El]prlggfggﬂ 300 400 > print(p)
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= print(p)
(1] 100 200 300 400
> pli]

[1] 100

> pl2]

[1] 200

= pl3]

[1] 300

> pl4]

[1] 400
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= Cl ~::.— c(128, 104, 124, 85, 120) FadFnse Aok,
= ¢2 <- c(118, 110, 96, 85, 109)
128 | | 118 80 | | 127 DR I T
104 110 80 72 = mean(cl)
124 96 126 111 Elﬂieﬁ'é}
85 85 122 82 [1] 103.6
120 109 79 81 e
= mean{cd)
[1] 94.8
= wvar{cl)
[1] 314.2
= var{c2)
cl <-c(128, 104, 124, 85, 120) (] 170.3
c2 <- ¢(118, 110, 96, 85, 109) B oS
c3 <- ¢(80, 80, 126, 122, 79) A
c4 <-c(127,72, 111, 82, 81)
mean(cl)
mean(c2)
mean(c3)
mean(c4)
var(cl)
var(c2)
var(c3)

var(c4) 28
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= X[floor{ runif({5, 1, 10000004+1) )]
[1] 102 79 101 91 103
= X[floor{ runif({5, 1, 10000004+1) )]
[1] 110 110 106 115 90
= X[floor{ runif({5, 1, 10000004+1) )]
[1] 114 114 112 98 103

EDfaRMNt D

X <- round( rnorm(1000000, mean=100, sd=20) )

X[floor( runif(5, 1, 1000000+1) )]
X[floor( runif(5, 1, 1000000+1) )]

X[floor( runif(5, 1, 1000000+1) )]
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> print(m)
[1] 89.4 86.4 102.0 118.8 92.6 102.2
[7] 102.6 94.8 109.8 102.0 92.8 113.4
%#EZKGD [13] 89.2 100.2 105.8 05.0 113.2 090.4
71~ [19] 94.2 96.0
> print(v)
I'ii’:jb [1] 327.8 455.3 246.0 493.2 50.8 417.2
I\ [7] 665.3 212.7 738.2 57.5 405.7 786.3
= [13] 876.7 603.7 171.7 372.0 142.7 572.3
Z:'fﬁﬁﬁ& [19] 139.7 505.0
>

BEESERNED

X <- round( rnorm(1000000, mean=100, sd=20) )

m <- numeric(20)
Vv <- numeric(20)
for (1in 1:20) {

s <- X[floor( runif(5, 1, 1000000+1) )]

m[i] <- mean(s)

Vv[i] <- var(s)
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print(v)
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X <- round( rnorm(1000000, mean=100, sd=20) )
m <- numeric(20)
Vv <- numeric(20)
for (i in 1:20) {
s <- X[floor( runif(5, 1, 1000000+1) )]
m[i] <- mean(s)
V[i] <- var(s)
}
for (iin 1:20) { print( mean(m[1:i]) ) }

for (i in 1:20) { print( mean(v[1:i]) ) } 35
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= for (i in 1:20) { print{ mean{m[1:1]) ) % = for (i in 1:20) { print{ mean(v[1:i]1) ) }
[1] 89.4 [1] 327.8
[1] &7.9 [1] 391.55
[1] 92.6 [1] 343.0333
[1] 99.15 [1] 380.575
[1] 97.84 [1] 314.82
[1] 98. 56667 [1] 331.7167
[1] 99.14286 [1] 379.3714
[1] 98.6 [1] 358.5375

DR pAzAs HBE pazas
9.4 “a727
Uhhe  100(CED< QR 400 (SES<

[1] 99.69231 [1] 440.9769
[1] 99.72857 [1] 452.6
[1] 100.1333 [1] 433.8733
[1] 99.8125 [1] 430.0063
El% 100. 6 [1] 413.1059
1] 100.0333 [1] 421.95
[1] 99.72632 [1] 407.0947
[1] 99.54 [1] 411.99
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= for (1 in 1:20) { print{ mean(m[1:7]) ) %
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= Tor (7 in 1:20) { print( mean({v[1:7]) J |
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